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Ingressos d'Explotacio
Venda de mercaderies 959980 739980 600000 500000 450000 500000 400000| 1350000,00 320000
959980 739980 600000 500000 450000 500000 400000| 1350000,00 320000
Despeses d'Explotacio
Compres de mercaderies 200000 200000 200000 100000 100000 100000 100000[ 300000,00 100000
Sous i salaris 185000 185000 185000 130000 130000 130000 130000 240000 130000
Amort. immobilitzat material 33333,34| 33333,34| 33333,34| 16666,67| 16666,67| 16666,67| 16666,67| 50000,01| 16666,67
Arrendaments i canons 12000 12000 12000 6000 6000 6000 6000 18000 6000
Subministraments 7200 7200 7200 3600 3600 3600 3600 10800 3600
437533,34| 437533,34| 437533,34| 256266,67| 256266,67| 256266,67| 256266,67| 618800,01| 256266,67
RESULTATS D'EXPLOTACIO 522446,66| 302446,66| 162466,66| 243733,33| 193733,33| 243733,33| 143733,33| 731199,99| 63733,33
Unitats venudes 2000 2000 2000 1000 1000 1000 1000 3000 1000




